8.5 Properties of Logarithmic Functions

This was created by Keenan Xavier Lee - 2014. See my website for more information, lee-apcalculus.weebly.com.

[DLd] Exponential Function fulles
Product Rule:
$$(a^{\times})(a^{\oplus}) = a^{\times+y}$$
 Negative Exponent Rule: $a^{-\times} = 1$
 a^{\times}
Quotient Rule: $a^{\times} = a^{\times-y}$ Power Raised to a Power Rule: $(a^{\times})^{y} = a^{\times y}$
[Examples] Simplify.
 $(a^{\times})^{(5^{\times})} = 5^{3+\times}$ $(a^{\times})^{(1D^{5\times})} = 10^{5\times-3}$ $(a^{\times})^{(4^{\times})} = e^{8y}$
 $(a^{\times})^{(5^{\times})} = 5^{3+\times}$ $(a^{\times})^{(1D^{3})} = 10^{5\times-3}$ $(a^{\times})^{(4^{\times})} = e^{8y}$
 $(a^{\times})^{(4^{\times})} = (a^{\times})^{(4^{\times})}$ $(a^{\times})^{(4^{\times})} = (a^{\times})^{(4^{\times})}$
 $(a^{\times})^{(4^{\times})} = (a^{\times})^{(4^{\times})} = (a^{\times})^{(4^{\times})}$
 $(a^{\times})^{(4^{\times})} = (a^{\times})^{(4^{\times})} = (a^{\times})^{(4^{\times})} = (a^{\times})^{(4^{\times})}$
 $(a^{\times})^{(4^{\times})} = (a^{\times})^{(4^{\times})} = (a^{\times})^{(4^{\times})}$

This was created by Keenan Xavier Lee - 2014. See my website for more information, lee-apcalculus.weebly.com.

[Examples] Expand. (a) $\log_{5}(\frac{x}{y^{2}}) = \log_{5} \frac{x^{2}}{y^{2}} = \log_{5} x^{2} - \log_{5} y^{2}$ (b) $\log_{3}(2x^{3}) = \log_{3} 2 + \log_{3} x^{3} = \log_{3} 2 + 3\log_{3} x$. (c) $\log_{10}(5x^{3}y) = \log_{5} + \log_{5} x^{3} + \log_{9} y = \log_{5} + 3\log_{7} x + \log_{9} y$ (c) $\log_{10}(5x^{3}y) = \log_{7} x^{3} - \log_{7} y = 3\log_{7} x - \log_{7} y$ (c) $\log_{7}(\frac{x^{3}}{y^{2}}) = \log_{4} 5a^{2} - \log_{4} b^{2} = \log_{4} 5 + \log_{4} a^{2} - \log_{4} b^{2} = \log_{4} + 2\log_{4} a - 2\log_{4} b$. (c) $\ln(\frac{3\sqrt{x}}{y^{2}}) = \ln(\frac{3x^{13}}{y^{2}}) = \ln 3x^{13} - \ln y^{2} = \ln 3 + \frac{1}{3}\ln x - \ln y^{2}$.

STRATEGIES FOR CONDENSING

- 1. If there is a number in front (coefficient), mucit to the back to an exponent (lower Pop.)
- 2. Write expression as radicals.
- 3. It number is raised to power, simplify
- 4. Condense and back to multiplication & subtraction back to division
- 5. Final answer should be only 1 log, and No rational exprents.

Examples Condense.

$$(4) \log_2 20 + 2\log_2 2 + \frac{1}{3}\log_2 x = \log_2 20 + \log_2 2^2 + \log_2 x^2$$

 $= \log_2 20 + \log_2 4 + \log_2 3 \times 100$

 $= \log_2(20.4 \cdot 3\sqrt{x})$

This was created by Keenan Xavier Lee - 2014. See my Ogbs to the more information, lee-apcalculus.weebly.com.